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BAND ONE

Test 1

Passage 1

There is an ancient Greek story about a monster, Itasked people a ques-
tion If they could not answer correctly, it kilied them, This is the question,
It has four legs in the morning, It has two

legs in the afternoon, It
has three legs in the evening, What is jt?

The monster killed many pecople, Then one man succeeded in guessing
the correct answer,

Questions like this are called #riddles” , You will find them in all

languages, Some are hard and some are easy, Here is an easy one; It has
legs but cannot walk, What is it? It is a chaiz,
answers to that riddle?

Can you think of other

Riddles often contain some kind of a trick to make you give the wrong
answer, Here is an example;, What is the longest word in the English

languagep Answer, “Smiles” , because the first and last letters
mile between them,

have a
Can you invent some riddles to ask your friends?
1, The correct answer 1is

a, a chair b, a bed c, a horse \d/a man
2, It has four legs in the morning, The morning means___,



%’/thc morning of his life, when a man is a baby

b, the spring of a year

¢, the morning of a day d, when the sun rises
3, Three legs means __,
a, a man crawls on hands and feet \13; an old man with a stick
c, a man lost his leg d, a monster
4, It has two legs in the afternoon, It means _,
a, a baby b, an old man \r:"/an adult d., a clock
5. Questions like this are called #riddles” , Riddles mean .
a, stories b, tales Q,/;)uzzling questions d, myths
Passage 2

A flag is more than a piece of cloth, It stands for a nation’s people—
their land, history, and ideals, Iceland’s flag, for instance, stands for
features of the land, Red is for the fire of Iceland’s volcanoes, White

e

i‘g_hﬁ_or ice, Blue is for the mountains, On India’s flag, the blue wheel
stan(:I‘;—f-;r peace and progress:_:I'H;whitc stripe behind it is for truth, The
black stripe on the flag of Malawi stands for the Negro people of that
African land, The red stripe represents the blood they shed to free
themselves from foreign rule,

When the people of any nation see their flag flying, they feel proud,
They love and honor the flag as the symbol of their country,

1, The flag of Iceland is 3

a, red and white b, blue and green

c, black, white, and red \d/-’red, white, and blue
2, The white stripe on India’s flag stands for ___,

a, ice and mountains b, peace and progress

c, waterfalls \El/"truth

3, The red on Malawi’s flag reminds the people of _____,

a, the many volcanoes in their land b, the beauty of their countryside
Psyf:their fight for freedom d, their nced to make progress
4, The writer says that when people see their flag they feel ___,

a, peace b, pride c, love {.}both b and ¢

) : s :
5, The most important thing about a flag is

«a, what it stands for b. when it is used
c., what it is made of d, how big it is

Passage 3
In 1889 all Paris admired the Eiffel Tower, It was the engineering
wonder of the world, Alexandre, Gustave Eiffel had completed his

e 2



masterpiece in steel,

Steel as a building material was then still new, The 984—foot towet
was a lacy (#F & N0 ) network of girders(3),There were thousands of
steel piecces, Two and a half million on rivets joined them,

From four corners, the legs of the 1ower_‘sTope inward, They rise to
form the spire, Lifts carry visitors to three platforms at different height,
On a clear day, countryside sixty miles off is viewed from the top plat-

T ——
form,

As Eiffel planned, his structure is a landmark of Paris, It is even
higher today, A relay station for radio and television has added almost

fifty feet to the tower,

-

17 The tower bears the name of ___,
a, the main river of Paris b, a president of France¥
Q/’its builder d, none of the above
2, The tower was an engineering wonder because of .,
\)(\ 2 ';:ts sideways slant “b@\ the use of steel
/ ‘c, the use of glass, d, its location
3. At the bottom, the tower has ____,
a, two mai;_sections b, three legs
c./four legs d, six legsv
4, To reach the top platform, sightseers use___,
\::\;_./,lifls ' b, escalators
c, steel ladders d, Spiral.stairways

\A?:/"many people at first thought the tower was ugly
. steel arches link the legs of the tower

5. The, article does not say that

¢, the total height is now given as 1,033 feet,
Aﬁmy of the above
Passage 4

Once upon a time there lived a poor peasant, who was too old to
work, One day he was standing on the road, cold and hungry, Sud'dcnly
a stranger appeared before him, carrying a beautiful white goose, “Take
care of my goose, and my goose will take care of you, ”

The peasant took the goose home, and gave her waterto drink, and
his last grain of rice to eat, When the goose had finished her supper,
the peasant made her a nest of warm sweet hay to sleep in, The
next mofning when the peasant woke up, his first thought was the

goose, To his surprise, he found in his nest a beautiful golden egg newly

« 3 .



iaid, He picked it up and hurried off to the nearest market and sold it fot
much money, The next morning the same thing happened and the next and the
next, With the eggs he was able to buy clothes and food,and build 2 new house,
1. Which one is not true according to the passage?

a, The stiranger came to help the peasant,

*\b},{ The stranger didn’t know his goose would lay golden eggs,
c. After the peasant fed the goose that night, he got no grain left,
d, The goose helped him out of poverty,

2. The pecasant was very poor, because

a. he worked too hard, b, he was old enough to work
\E/‘hc couldn’t work d, he was always standing on the road

3. The stranger appeared bzfore him, because

\a)-’fhe stranger wanted to help him

b, the stranger would take carc of him

c, the stranger wanted to work for him

d, the stranger wanted to sell his goose
4, The peasant get ____ eggs in a week,

a, one b, threc. c, five .\g/--’ge\rcn
5, With the eggs he was able to

—

a, buy clothes b, buy food c, build a house | d, ':‘..Ilof the above

L /

Test 2

Passage 1

The first English window was just a slit in the wall, It was cut long,
so that it would let in as much light as possible, and narrow, to keép
out the bad weather, #However the slit let in more wind than light, This
is why it was called “the wind’s eye” , The word window itself . comes
from two Old Norse words for w_il:t_c_i_ and eye, I

Before windows were used, the ancient halls and castles of northern
Europe and Britain were dark and smoky, Their great rooms were high,
with only a hole in the roof to let out the smoke from torches and cooking
fires, '

As time went on, people wanted more light and air in theit homes,
They made the wind’s eye wider so as to admit more air and light, They
stretched canvas or tapestry across them to keep out the weather,

1, The first window wds a ____.

a, large hole in the wall

.4!



b. hole covered with .canvas ™
’ - -
\c_’/a narrow opening in the wall
d, a long cut with a piece of puper over 1t¥

2, The word window meant __,

a, an opecning to look throngh b, a light rriv S
\CR\ﬁ slit y\hl s eve
3. ThY window got its mame because it
a, kept out the bad weather b, blew ouvt the smoke
et in more wind than light d, let in fresh air

4, In the ancient castles, smoke went out through g
a, the windows b, the doors

¢, the chimney \d)//a hole in the roof

5. It seems true th:t the larger windows with canvas or tapestry ___.

a, were not any better than the first oncs

b, were worse than the first oness

Cs gid not let any air in

d,/ were as good as today’s windows
Passage 2 alen

Atoms are all around us, They are the bricks of which everything 1is
made, Many millions of atoms are contained in just one grain of salt, but
despite their small size they are very important, The waymveryday object
behaves depends on what kinds of atoms are in it and how they act,

For instance, youknow most solid objects melt if they get hot enough,
Why is this? It is the effect of the heat on the object’ s atoms, All atoms
move constantly, When they are hot, they move faster,

Usually the atoms in an object hold together and give the object its
shape, But if the object grows hot, its atoms move so fast that they break
the force that usually holds them together, They move out of their usual
places so that the object loses its shape, Then we say that the object is
mclting.

1,0ne grain of salt contains

a, a few thousand atoms b, ,a;la.ny millions of atoms
c, several heated atoms }'./ one million atoms
2, The way an object behaves depends on the .
kinds of atoms in it b, number of atoms
NGy WY its atoms behave \d., both a and £~
"

3. Atoms in an object move

a_| at all times b, only when the object is heated

.5.



¢, whenever they grow hot d, unless the object has melted

4, Heating an object will affect .

a, the movement of its “toms b, the specd of its atoms
c, /both a and b d, the shape of its atoms
5. Yn’object holds its shape because its atoms ___, :
\z_ty/usually hold together b, move very fast
c, are very hot d, are not moving
Passage 3

Few animals other than monkeys have handlike pows, The monkey,
like man, has an opposable thumb—that is, it can place its thumb oppofite
its other fingers, By pressing its first finger against its thumb amonkey
can pick up things as tiny as a flea, Because other animals lack this
thumb, it is difficult for them to pick up small thingsand carry them,

The monkey’s ability to grasp rice with its paw often leads to its
capture, Hunters bait a coconut { -5 ) with a handful of rice, leaving
a hole in the shell of the nut, The monkey has no trouble sliding its paw
through the hole, But it can’t draw the paw out while it is holding a
fistful of rice,

Since it is often too stupid or greedy to open its hand, the monkey
is unable to free itself from this simple trap,

1, Not many animal have ____ ,
a, fingers b, hands c. paws ‘Q,/’l:andlike paws
2. An opposable thumb is a thumb that can

a, pick up things b/ be placed against the other fingers
c, press against the other thumbs“. d, press against'anything
3. A monkey can pick up small objects by 9ushing its thumb against ___,
a, its paws b, its fingers \c}/'its forefinger d, the objects
4, Hunters put rice in the coconut trap because monkeys ____,
a, can get the rice easily b, I}ave trouble picking up rice
';"a___m‘ust close their fists to hold rice \d{xboth b and ¢
5,“'\1'1% success or failure of a coconut trap’ dependes on ____.
\a‘\jzhat kind of rice is put in the trap
b, how large the coconut is
¢, how many holes are in the coconut
,:’E_;t"xwhether the monkey will give up the rice
Pah;sage 4
Between A, D, 700 and 1100, northern rovers called Vikings
explored most of the known world, They even crossed the Atlantic and

.6.



reached the shores of North America, Yet they had no compasses or other
modern instruments, How did they find their way?
The Vikings stayed near coasts whenever they could, In open seas they
navigated by the sun, On cloudy days they used sun 'stones, Sun stones
————————— e
were probably pieces of a crystal now called cordierite, This substance has
ey
the power to filter sunlight, Peeting through a sun stone, a sailor could
find out where the sun was and thus plot his ship’s latitude,

Today sky compasses are used to guide some Scandinavian jets ‘across
polar regions, where a magnei‘:ji compass would he of no use, Though more
™ — e ————
complex, the sky compass works in the same way as the sun stones used

by the Vikings more than a thousand years ago,

1, The Vikings traveled mostly

a, by aircraft b. /in ships c. on foot d, on horseback

2. Coastlines often helped the Vikings

-

1, discovet good hunting areas b, hide from their enemies
c. keep away from rocks {./-"find their way

3. Thg Vikings used sun stones to__,
\@J"'determine their latitude b. measure the temperature
¢, predict the coming of storms d, both a and b

4. Sun stones were used when ____,
a, the night was dark b, the day was clear
\Cj, clouds hid the sun d. no winds blew

5. Sky compasses are used in polar re~ions because .
a, radar is useless at the poles b, the days are so short
CQJ magnetic compasses won’t work there-

d, sun stones are no longer available,

Test 3

Passage 1

Bamboo is a giant grass that grows in warm climates, It has many
uses, Everything from chairs and fishing rods to rope and paper can
be made from it, And that’s not all, It can be eaten too,

In many parts of Asia, bamboo shoots (% ) are a favorite food,
The winter shoots taste the best, They are soft, with a creamy color,
Usually they are boiled in salted water, Spiiq“g‘ shoots are darker and
harder, They take longer to cook and cost less than winter shoots,

Fresh bamboo shoots are seldom found outside their native soil,

v To



But preserved shoots may be used in their places, They need no cooking
andmm as good,
1. This story is mostly about bamboo as a ___,

decoration b, building material c, tool \d/food s

2. The story calls bamboo a .
rd

a, bush b, tree \E:),.f'grass d, weed
Compared with spring shoots, winter shoots —__,

aste better ) b, _have a lighter color
c, take less time to cook . ’all of the above

4, Sprmo- shoots cost less probably because -

iﬁ’thcv need no cooking b, they are softer J

c. /people don’t like them as well d, salt must be added to them
5. Presgrved bamboo shoots are probably ____.

,&/booked before being preserved b, sweetened with sugar or honey
c, made into chairs and tables d. used to make rope
Passage 2

Mr, Thompson did not learn to drive a car until he was almost
thirty, because he was a very nervous person who always had the convenience
of someone else to drive him ,(first his mother and then his wife, But
at last he decided to take lessons, and managed to pass his driving test
on the seccond attempt, although he still wasn’t good at parking,

A week later he drove into town by himself and was trying to p.rk
between two other cars when h: damaged one of them slightly,

When he wrote to the insurance company about the accident, they sent
him a form to [ill in discribing it, and onc of the questions on the form
wisy  “How could the driver of other car have prevented the accident from
happeningy ”

Mr, Thoinpson thought for a minute and then wrote, “He could
have parked his car on another street,”

1. Mr, Thompson didn’t learn to drive a car, becazuse _.
he had no car- b, he was thirty

c./ he was an aixious anl a worried person d, he was a mad person
2. He decided to pass his driving test when he wes ____,

thirty b, over thirty

c./ nearly thirty d, in his thirties
3. He always had the conveniece of somone else to drive him,

It means ____
Ne alwa}s drove someone else b, he drove instead of someone else

8 ¢



7 _
@ someone else often drove him
someone clse always had the convenience of him to drive home,

d,
4, His accident was that . X
wayhe damaged a car badly .-}lgyf_‘he damaged a car slightly

¢, his car was damaged badly “d. his car was damaged slightly

5., His answer was .
o,/ wroig b, right c., treasonable d, possible

Passage 3
All the useful energy at the surface of the earth comes from the activity
of the sun, The sun heats and feeds mankind, Each year it provides man

with two hundred million tons of grain and wood,
Coal, oil, natural gas, and all other fuels are storcd-up energy from

o —
the sun, Some was collected by season’s plants as compounds, Some was

L)
stored by plants and trees ages ago, Seu
Even water-power derives from the sun, Water turned into vapor by

the sun falls as rain, It courses down the mountains and is converted to
electric power,

Light transmits only the energy that comes from the sun’s outer
layers, and much of this energy that is directed toward the earth
never arrives, About nine-tenths of it is absorbed by the atmosphere of

e e —— e et
the earth, In fact, the earth itself gets only one half-billionth of the
sun’s entire output of radiant energy ($H§t6E ) .
1. All the useful energy at the surface of the earth comes ___,

a, directly from the sun \b;from the sun’s activity

c, from energy stored by the sun

d, from radiation of the sun
2. For the mankind, the sun is the source of .,

a, solar activity by all heat

¢, all food d} both band ¢

3. Radiant energy is stored as carbon compounds by ___.
A "|

a, plants b, rain , é

LY i ¥
\x-cc-al, oil, znd natural gas /d;"‘linflammm\wbstances
{, The largest part of the rudiant energy directed toward the earth is

a, stored by the current season’s plants b, turned into fuel
.{:/absorbed by the earth’s atmosphere d, used for electric power
5. Of the sun’s entire output of th2 radiant energy, the carth receives____
a. nearly all b, about half
\n-:y-' a very small portion d. all that comes from the sun’s outer layers

-9.



Passage 4 ‘
The horse has been man’s friend since the earliest times, as painting

on the walls of old caves and tomnbs show, A man on his steed became
a symbol of power, striking fear into thosc he had conquered, A knight
of medieval times would own several horses—one for war, some Por
racing and hunting, and others for jousting—while his lady had a
palfrey ( i Wi ) of her own, 3

Later the horse played an important role in the field of medicine,
Horsehair was used as thread to sew up wounds, The blood of horses
was useful in the development of serums, In 1895 Emil von Behring
developed a diphtheria serum, He if;}‘ected into horses increasing doses
of toxins wuntil their blood built up a resistnce, The serum he
obtained from the horses’ blood helped cure diphtheria in human beings,
The same method was used to develop a serum for tetanus, commonly
known as lockjaw,

Today horseflesh is caten by people in some parts of Europe and Asia,
In many other countries horseflesh serves mainly as cat and dog food,
1, Cave and tomb paintings prove that the horse ___,

a, has always been liked by artists

b. was known to early man

@Quﬂuenccd the course of history

d. -participated in hunting expeditions
2. A man mounted on a horse represented ____,

a, friendship \Q,jpower . C. courtesy d, wealth

3. Knights used horses for 3

a, fighting . b, sport
¢, hunting \d.-"all of the above
4. The part of the horse used to develop serums is its ___,
a, bones b, hide NS blood " d, hair
5, The two human diseases the horse l}as helped cure are ____
a, tetanus and lockjaw \_ly lockjaw and diphtheria

c. diphtheria and heart disease d, diphtheria and wounds

Test 4

Passage 1
It is morning on a coral reef (HjHifk ). The sun warms the water
and lights up the reef below, The color of the reef is mostly a  soft
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blue-green, But thers are flashes ol bright colors everywhere—colors of
fish and of many other crestures that live here,

. A purple fish with blue Eiots swims out of a hole in the coral wall,
A big TE__.,‘C stab hides benesth & Ledge, X green cel stretches its head out of
a cive, Dozens of blue fish with vellow stripes dart this way and that,

The fish swim ;:r-;r;};rlpc sronges and over coral rocks splashed with
color, The corals look like dozens of tiny rock flowers and rm_t_gs_

The fish, the crab, the eels are all animals you cz;.n see, But there are
billions more you t;;;l"t see,
1, There are flashes of bright colors everywhere,

a, They are colors of fish,

b, They are colors of the many other creatures in the sea,

¢, They are colors of freshes of lightning,

Moth a and b,
2, Which of the following is not true?

\Q_,//We can see all animals in thclmorning_

b, We can see the fish swimming,

c, We can see a green eel stretching its head,

d. We can see many blue fishes,

3. According to this passage, we know

—
a, the corals are tiny rock flowers b, the corals are tiny rock stars
the corals are creatures 4 ‘*.both aand b
4, What is polyps(zli:_@, )?
a, Tt is a fishu{ \b’fIt is a little animal we can’t see,
c, It is a coral reefd\ d, It is a something dirty in the sea,
5. From this passage we can conclude that the author ____,
a, hates the sea b, likes the sea
c, 1s annoyed for the sea d, has a cold feeling to the sea
Passage 2

Strange things happen to time when you travel, bacause the earth is
diviled into twenty-four time zones, one hour apart, You can have days
with more or fewer than twenty-four hours, and weeks with more or fewer
than seven days,

If you make a five-day trip across the Atlantic Qcear, your ship
enters a different time zone every day, As you enter each zone, the time
changes one hour, Traveling west, you set your clock back; traveling
east, you set it ahead, Each day of your trip has either twenty-five or

twenty-three hours,

ol]_l



